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What do | need to be able
to do?

By the end of this unit you should be able to:
e (0dd/ Subtract expressions with indices
Multiply expressions with indices

Diide expressions with indices

tinow the addtion law for indices

tinow the subtraction law for indices
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Product: Multiply

(Oddition/ Subtraction with indices
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each cube

Only similar terms can be. simplfied
If they have different powers, they
are unlke terms

Divide expressions with indices
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Cross carceling factors shows cancels the expression

This expression cannot be. divided
(canceled down) because there are
no common factors or similar terms
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Each square
represerts x* and

represents x*
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Indices

Base: The number that gets mutipled by a power

Power: The exponent — or the number that tels you how many times to use the number in muttipication
Exponent: The power — or the number that tels you how many times to use the number in muttiplcation
Indices: The power or the exponent

Coefficient: The number used to mutticly a variable

impify: To reduce a power to its lowest term

1=(3x3x3x3x3)x(3x3)

The base. number is dll the same so the terms
can be simplfied

Oddition law for indices
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Subtraction law for indices
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I 4b x 3a Hixat

: =4xbx3xa =Hxtx9xt

| =4x3xbxa =Hhx9xtxt
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| b x 3p?

| =2xbxbxbxbx3xbxb fhere o oftr
_ misconceptions with this

| =Ax3xbxbxbxbxbxb calculation but break down

: = (b the powers
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| Oddition/ Subtraction laws for indices
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